: Forenkling av polynom

[T

StudentName: ExamDate: ExamScore:
3x— 2x+x + 4% + 8x 4x — 2% — 9x% — 4(4x + 2x%)
47 + 7% + 6x° — X% + 5x 3(8x2 + 8x3) — 8x> + 8 — 5x7
6x° + 6 — x> + 4(9)(2 + 2x) 32— —x— 4(9)(2 + 4x)
Tx+ 6x° + 2(2)63 — 5x3) + 8x? Tx? — 20 + 3x+ 560 — 2x°
4(6x3 — 6x) — X + Tx% + x* 2% + 3 + T — 4(x — 6x3)
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IR

Forenkling av polynom

StudentName:

3x— 2x+ x + 4x® + 8x
4% + 10x

3+ T3+ 608 — X + 5x

16x° + 5x

6x% + 65 — x> + 4(9x% + 2x)
5% + 42 + 8x

Tx+ 6x% +2(2x° — 5x°) + 8x?
—60° + 142 + Tx

4(6x° — 6x) — 9 + Tx% +x°
24x3 — ¥ — 24x

ExamDate: ExamScore:

dx — 2% — 9x% — 4(4x + 2x?)
—19%% — 12x

3(8x + 8x%) — 8x° + 8¢ — 5x?
245 + 19x°

3% — 2% —x— 49 + 4x)
—34x% — 17x

T? — 2 + 3x + 5 — 2x°
33 + 5% + 3x

2%+ 30 + Ta? — 4(x — 6x3)
27 + 9% — 4x
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